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USHX Chapter 6. 2:  Big Business

Drill: Patent & Bessemer Process 

Patent- is the exclusive right to manufacture or sell an invention.

Bessemer Process is an easier and less expensive way to make steel. 

Objectives

Students will be able to identify the changes occurred in the way that businesses were organized by explaining how some business leaders became successful.

Notes
1. Free Enterprise is when business that is free from government involvement. 

2. Entrepreneurs are people who start new businesses.

3. In the late 1800s, entrepreneurs organized their businesses as corporations
4. Entrepreneurs found new ways to build their businesses. 

5. Andrew Carnegie owned steel mills, (vertical integration)

6. John D. Rockefeller owned Standard Oil. (horizontal integration)

7. Many business leaders believed in Social Darwinism. 

8. Andrew Carnegie practiced vertical integration by buying mines, coal fields, and railroads.
9. In 1890 Congress passed the Sherman Antitrust Act, (illegal to control industry)

10. Monopoly is total control of production of goods or services
11. Sociologist is a person who studies society
12. Merged means to combine
13. Philanthropists, such as Andrew Carnegie, gave millions of dollars to charity.
14. John D. Rockefeller practiced horizontal integration by buying oil-refining businesses.

15. The Sherman Antitrust Act was passed to make monopolies illegal.
Summary: In today’s lesson we learned that during the late 1800s, many companies grew larger and gained a lot of power, like US Steel and Standard Oil.

Homework: Entrepreneurs & Corporations

Entrepreneurs—people who start new businesses.

Corporations—companies that sell shares of ownership called stocks. 

Name __________________________ Class _______________ Date ________________
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USHX Chapter 6. 2:  Big Business

Terms to know: Write the definition for

• monopoly  _____________________________________

• sociologist _____________________________________

• merged _____________________________________

EVALUATING INFORMATION Mark the statement T if it is true or F if it is false.

______ 1. Free enterprise is free government help for businesses.

______ 2. Entrepreneurs are people who start new businesses.

______ 3. A corporation sells stock in order to form a trust and eliminate competition.

______ 4. Vertical integration lowers production costs.

______ 5. Social Darwinists believed that horizontal integration interfered with the “survival of the fittest.”

______ 6. Andrew Carnegie’s belief that the wealthy had a duty to aid the poor led him to give large amounts of money to charity.

MULTIPLE CHOICE For each of the following, write the letter of the best choice in the space provided.

______ 1. Free enterprise is

a. free government help for business.

b. giving away free samples to win

new customers.

c. business that is free from government

involvement.

d. freedom from monopolies.

______ 2. Entrepreneurs are people who

a. give money to charity.

b. set up new businesses.

c. believe in Social Darwinism.

d. oppose trusts and monopolies.

______ 3. Corporations sold stock to

a. raise money for expansion.

b. advertise their products.

c. achieve vertical integration.

d. compete with the New York Stock

Exchange.

______ 4. In the late 1800s the U.S. economy

a. was very stable.

b. declined steadily.

c. went through cycles of boom and

bust.

d. increased steadily.

______ 5. 
d. public libraries.

______ 

______ 7. Trusts sought to increase their profits

by eliminating

a. competition.

b. monopolies.

c. rebates.

d. philanthropy.

______ 8. Social Darwinists were against

a. laissez-faire capitalism.

b. “survival of the fittest.”

c. government regulation of business.

d. unsafe working conditions.

Summarize today’s lesson in your own words:

______

